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This questlon paper contains two parts A and B. \ Sal
Part A is compulsory which carries 25 marks. Answer all questlons in Part A.
Part B consists of 5 Units. Answer any one full question from each unit.
Each question carries 10 marks and may have a, b, ¢ as sub questions.

PART-A:" o0 L
Fer (25° Marks)
l.a)  Define forward bearing and backward bearing. [2]
b)  List out the accessories in plane table surveying. [3]
c)  Define Back sight and Fore sight in leveling. (2]
d)  Differentiate between direct and indirect methods of contourm 2. (3]
), List out.th¢ . methods of flndmg areas by field notes. S e, - 2l
""" fy  Differentiaté between oné level and two [éVel'sections. B
g)  Define Face left and Face right in theodolite surveying. [2]
h)  Describe the principle of electronic theodolite. [3]
i) Define simple curve and compound curve. [2]
j)_ State the kmds of GIS i in surveymg L o ',[3],‘
PART-B
(50 Marks)
2.a)  List out the principles of surveying.
b)  Explain briefly about classification of survey based on objects of survey. [5+5]
Yo OR .. . o
23#y  List out: the methods of plan¢:table surveying.: 0 T D

b)  The bearings of the sides of a traverse ABCDE are given below Compute the

interior angles of the traverse. [5+5]
 Line | Fore bearing Back bearing
AB 110° 15’ 290° 15°
BC 35715’ 12157 15
CD 276° 30’ 96" 30
DE 1957 30’ 15° 30/
EA 1317 15 3129 15°
4:..  The following readings were obtained in_r(unh‘iyng a line offly'levels from a-BiM,
o of elevation 162.350.
Back sight | 2.850 | 1.690 |2.075 | 1.720 | 0.955
Fore sight 2.325 | 1.575 |2.340 | 1.855

From the last position of the instrument, 6 pegs at 20 m intervals are to be set out
ona un1f01m falling gradlent of 1 in 50. The fust peg is to. have a RL of 162.220.

gr adlent and enter the 1esult in a level book form.
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10.

11.a)

b)

What is:contour and state thé characteristics:of contour with sketches. [10} :

The following offsets were taken at 15 m intervals from a survey line to an
irregular boundary line: 3.50, 4.30, 6.75, 5.25, 7.50, 8.80, 7.90, 6.40, 4.40 and
3.25 m. Calculate the area enclosed between the survey line, the irregular

OR
An embankment of width 12 m and side slopes 1.5 to 1 is required to be made on
a ground which is level in a direction transverse to the centre line. The central
heights at 20 m intervals are as follows: 3.7, 2.6, 4.0, 3.4, 2.8, 3.0, and 2.2 m.
Calculate the volume of ear th work by the trapezmdal and prrsmo1dal formula

................... “F10T

List out the methods of measuring horizontal angles in theodolite surveying and

also explain the methods with a neat sketch. [10]
OR

Define hkgrl”zontal angle : a'nd-evertlcal angleln theodollte @urveyrng
instrument stations P and Q, 150 m apart, the stations P and Q being in the line
with A. The angles of elevation of A at P and Q were 30° 05’ and 17° 52
respectively. The staff reading upon the BM (RL = 311.25 m) were, respectively,
2 690 and 3 815 when the 1nstrument was at P and Q the telescope bemg

Tabulate the necessary data to set out a right handed circular curve of 600 m
radius to connect two straights intersecting at a chainage of 3605 m By rankine’s
method of deflection angles, the angle of deflection being 25° and peg interval is
30 m. : p a3 [10]

e : OR .. ' o
Describe about Total station and state its advantage over other methods of
surveying.

State four uses and applications of GPS. [5+5]
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